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Similar Figures
Practice and Problem Solving: D 
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Identify a sequence of transformations that will 
transform figure A into figure C. The first one is 
done for you.

1.
What transformation is used to transform figure 
A to figure B?
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2.
What transformation is used to transform figure 
B to figure C?


3.
Name two figures that are congruent. _________________  

4.
Name two figures that are similar but not congruent. 

Complete each transformation.


5.
Rotate figure A 180( to figure B by applying 
(x, y) ( (x, y). 


6.
Transform figure B to figure C by dilating it 
by a factor of 2, so (x, y) ( (2x, 2y).

7.
Name two figures that are congruent. 



8.
Name two figures that are similar 
but not congruent. 

Geraldo designed a flag for his school. 
He started with (ABC. He used centimeter 
grid paper. Sides AB and BC are each 5 cm long. 


9.
How long is side AC on Geraldo’s drawing?

10.
To make the real flag, each side will be dilated by 
a factor of 100. How long will each side of the 
actual flag ABC be? 

7.
Check students’ work. Sample answer:
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8.
Sample answer: (x, y) ( 
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9.
Sample answer: (x, y) ( (x,y)
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Practice and Problem Solving: D


1.
dilating by a factor of 2 OR 
(x, y) ( (2x, 2y)


2.
translating down 6 units OR 
(x, y) ( (x, y 6)


3.
Figures B and C

4.
Figures A and B or Figures A and C

5–6.
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7.
Figures A and B

8.
Figures A and C or Figures B and C

9.
6 cm


10.
AB  500 cm; BC  500 cm; 
AC  600 cm 

Reteach


1.
dilation by scale of 
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 (x, y) ( 
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2.
translation down 7 units; (x, y) ( 
(x, y  7); congruent

Reading Strategies


1.
(x, y) ( 
[image: image7.wmf]11

,;

33

xy

æö

ç÷

èø

 reduction

2.
(x, y) ( 
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 reduction


3.
(x, y) ( (8x, 8y); enlargement

Success for English Learners


1.
Check students’ work. It should include a dilation with a whole number greater than 1.


2.
Check students’ work. It should include a dilation with a fraction between 0 
and 1.

MODULE 10 Challenge


1.
(x  2, y); L


2.
(y, x 2); J


3.
(y, x 2); J


4.
(2x, 2y); M


5.
(x, y); K


6.
no


7.
J, K, L
lesson
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(x, y) ( (2x, 2y)
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